Vypracuj do 7.4.

1. Secti, odecti - nezapomen postupné upravovat, upravy ale psat, nebude$ mit napsany jen
vysledek:

a)(+4)-(+5)=

b)(-2)-(-1)=

c)(-6)-(+3)=

d)(+4)—(—5):

e)(-4)-(-1)=

)(7)-(4)=

9) (8)—-(-21)=

h) (5)—-(+5)=

)(-74)-(-215)=

) (-456)—-(+56)=
K)(—4564)—(+54455) =

) (-45660)—(—-98941) =

m) (+89 459 ) - (-59741) =

n) (+6) - (-4) - (+2) =

0) (9) - (+1) - (-3) =

p) (+2) - (1) - (3) =

q) —32 + (-28) — (+36) + 45 — (-12) + (-27) =

2) Vynasob:
a)5.(-5)=
b)(-1).8=
c)0.(-7)=

d) (-6) . (-9) =
e)4.(+8)=

f) (-6) . (-12) =
g) 30.(-30) =
h)(-2).(-71) =
ch) (+4) . (-45) =
i)7.(+70) =



